1 -
(X+A)2 _ X2+BX+5 01]/\'1 A, B_o/] %}:Q_E 7}%—?} 7/_1% E-_TV:“

T=H?
1 2 1 1
A:—,B:— A—_,B:_
@ 91 91 ? 21) 91
@A:—?,B:§2 @A—g,B:—g
A=-=,B=-=
=5 8-

1
(x+A)2:x2+2Ax+A2:x2—|—Bx—|—8—1
1 1 2 1 2

A2= —olBER2 A= AW pg=" A=——-Adup=-=
81 ] 9th1 9° 92[q1 9

ojct.




2. x—-47}F oA a2 +ax+40, 3x2 —10x+ b & FE<I Q4

a-b 9 e A7

@ 3 @ 6 ® 0 @ -3

@-s

o]
=

o,

B

x? +ax+40 = (x - 4)(x - 10)

La=-14
3x2—10x+b = (x—4)(3x +2)
Sb=-8

ca—b=-14—(-8) =6




ab—b—a+ 12 HFEA Q1FEaleh 227

D @-b)p+1) @ @+h)b-1 Ga-1p-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1) =(a-1)(b-1)




4.  (x+3y+2)(x-3y—2)E H/N5tH?

®x2—3yz—6y2—22 @x2_3yz_9y2_z2
® x?-6yz-3y?-72 C(‘?)c2—6yz—9y2—z2

® x% -9yz-9y? - 72

B

(x+3y+2z)(x—3y—z) oA 3y +z = s} SHAL
(a+b)(a-b) =a®-b*& o]-&sto] A7NstH
x? — 20|l t =3y + zE HYSHH

x2 - (3y+2)?

= x2 — (9y* + 6yz + 2°)

= x% - 9y — 6yz — z2 0|},




(3x —2y) (4x = 3y) = ax® + bxy + cy* 4 W, a+ b + ¢ 9] TS Tt

2},
> [l ]
> &®E: 1

(3x —2y) (4x — 3y) = 1242 — 17xy + 6y?
Catbtc=12-174+6=1
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thee] Fold 8L o] gate] A& AY Azt el Yoz vk
Ao o AAAY O 72 B A2 dot E = Sl AS 25
=22
PEHAR PEHAR T~ T~ X~
; ; (I (I
l\ l\ ,-.'E~\ ,-$~\ 1
— = 1]
’ ’ -~ T~ 1
I N N O
\ \ T T 1
T T
, P
x x L LIS
\ \ 1| |1 I:Ij
@ x+4 @)2x+1 ® 2x+3
@ 3x+2 ®¥3x+4

6x%+11x+4 = (2x+1)(3x+ ,
4) oo g AxZ ol Fhzet
A2o] Aol=3xra Shoxt1  2TH]
o]}, \

~-3p+4----""




7.

the Ao A + B o] ghe FHA?

(3x-1)*-9(2x+3)?
= (Ax+38)(-3x-B)

D 14 @ 16 ® 17 @ 18

@

B

3x—1=a, 2x+3 =02t 5H

a®> - 9b* = (a+ 3b)(a — 3b)

= {(3x— 1)+ 3(2x + 3)H(3x — 1) — 3(2x + 3)}
= (9x + 8)(-3x — 10)

A=9 B=10

. A+B=19




x=3+ V3L x*-6x+6 2 g Fotoiet.
=t

>
> =™t o

od -

¥—3=+3

ol A5t
X —6x+9=3
2 -6x+6=0




oF bem 91 Y 5

gro] 109 cm? & o, \o

X
i
=)
f
39

Zol7} s2em 9 T A3 F |2 et g o] Aol 242
o] o
(?

I
D)
il
4
_(?L
g

® 7em? @ 13cm? @ 25cm?

@ 49cm? @ 91 cm?

B ,

da+4b=52°]B2 g+ b =13

a® + b* = 109

(a+b)?-2ab = a® + b*

109 = 169 — 2ab

..ab =30

(a-b)? = (a+b)? - dab = 169 — 120 = 49
a-b>0,a-b="7

b =(a+b)a-b)=13xT7=91




10.

o2 x* - 81yt & QAE5) gF Ao}, o] w D Qtof gure
ZtA4=2] & FotHA?

w81yt = (2 + [P+ -y
O 13 @ 15 ® 18 @ 20 ® 24

xt =81yt = (2® + 9%)(x* - 9?)
= (x* 4+ 9y?)(x + 3y)(x - 3y)
~9+3+3=15




